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H uglkg/day | peikeday | pgike/day | uglkgiday | mglkg/day
TEIREV 2R 15 15 15 14 14 15
— K EE — — — _ _ _
BT 0/15 0115 0/15 0/14 0/14 015
_ 2414 | 242.0 | 2410 | 241.8 | 241.9 239.3
HDROR | ngg | w7s | 114 | w71 | %78 | 57
§ 2771 | 2792 | 280.6 | 2761 | 279.5 271.7
HHIRTH 7.7 +9.1 | +112 | 94 | +92 +7.9
R 3173 | 3206 | 3821.0 | 8175 | 3227 313.0
BEIRI4B | 06 | +11.8 | +£12.6 | *£13.1 | +11.0 8.9+
% sissn | 2650 | 87L5 | 8702 | 5683 | 8717 | 8519V
> +13.0 | +13.2 | *+12.6 | *180 | +132 | =115
" igimoin | 2992 | 4093 | 2084 | 4039 | 4062 | 8836V
+15.1 | +16.2 | *+155 | *199 | +183 | =+13.4
RO 2739 | 2766 | 2763 | 2746 | 2814 275.6
_____ PUr o lE1s7 | £18.0 | +17.1 | +131 | +204 | *+79
wmon | S2sz [ 8208 [ B2 a202 | 82Tl 3210
Fo A +12.2 +12.8 +12.3 +14.4 +11.3 +14.0
5
| 157.8 | 167.3 | 167.4 | 1621 | 1643 | 144.2V¥
B g (HRO2IR | 50 | L1538 | +99 | 141 | +147 | =*104
B |
wmy 49.3 44.4 48.1 45.6 45.7 40.8
= WE0-21B | U0, | 4 D, 7
B 142 | *£141 | =123 | +148 | +159 | £117
- 22.8 23.4 23.4 23.0 23.4 20.17
FHROTR | i1p | 16 | *15 | 16 | 13 | *18
- 26.0 26.1 26.7 26.5 26.6 53.6%
PHRTIR | sy5 | 21 | xle | *15 | 15 | *1
o 246 95.5 5.6 26.2 26.5 913V
- HRI4218 | 19 | 226 | +29 | 23 | +23 +1.9
B [ aoan | 20 29.8 27.6 26.6 255 23.1
S i +£5.7 | *25 | *46 | 56 | *+63 | +d4
e | 98.9 985 29.1 98.6 971 243V
HEE4-7H
_____________________ +28 | *23 | #25 | *+21 | *31 | +21
‘ 51.2 515 51.9 52.4 52.9 426V
ij b
HETUA | 140 | x28 | +29 | 28 | 85 | =52
o 62.5 615 62.5 64.1 63.6 504V
WR42IE | 0 | i35 | w32 | +4e | +37 +72
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" ER 0 0.4 2 10 50 2000
e _ uglkgday | pgikeg/day | pelke/day | pgikgday | mglkg/day
ik 15 15 15 14 14 15
1/15 :
SHEREERR | (S5inmsi | 0/15 0/15 0/14 0/14 0/15
DOEIE) L
WEOCRE | 015 0/16 0/15 0/14 0/14 3/15
] S O IO Y SUNURRY AR (BREL)
| mES (%) | ] 100 | ... 100 |.... 100 | 100 f ... 100 | ...100 .
B | 4F IR H R 22.1 22.1 22.1 22.0 22.1 22.1
%2 LY =D N +05 | . +03 | . +£03 | £00 | . +03 | F03
ik N 16.8 16.9 16.9 17.1 17.4 16.5
54 AR +92.3 +1.6 +2.0 *+2.6 +2.4 +2.2
ElETE 15 15 15 14 14 12
HIRFTR — —~ — — — =
_ 76.0 74.2 73.7 72.8 73.2 82.6
BBER | g5 | tee | *94 | 75 | x97 | 6T
14.9 13.2V | 12.8¥v | 12.2v | 13.2V 12.2¥
B\ TEE | f14 | 219 | 14 | %17 | =14 | x18
i | AR 24.4 21.4 21.7 19.5% 19.5Y 18.6¥
- V- =) B +4.8 | 4.7 | . +3.0 | *£29 | =26 | _*48
i - 15495.1 | 15202.8 | 15302.2 | 14630.5 | 15375.1 | 17042.8
BT ]£2113.0| £1648.0 | =1456.6 | £1737.4| £1400.1 | *£2072.9
Fo | B ) | 25294 2482.0 | 2485.0 | 2419.0 | 2518.5 2533.2
% S|P +235.3 | £133.0 | £149.9 | £146.3 | £1249 | +189.2
m ~ 93.3 98.9 96.3 92.1 97.8 86.9
B g |MRER | Ji55 | +133 | +118 | £138 | *105 | *12
w S 408.9 444.5 403.7 411.3 445.7 342.7
+933 | +146.6 | =103.9 | £117.5 | £1069 | =*1164
= () 0.0235 | 0.0232 | 0.0228 | 0.0227 | 0.0224 0.0258
TR | 40,0017 | £0.0024 | 20,0031 | £0.0020 | £0.0029 | £0.0019
T 0.0046 | 0.0041V | 0.0039¥ | 0.0038V | 0.0040V | 0.0038¥
By T ]£0.0005 | =0.0006 | £0.0004 | +£0.0005 | £0.0004 | +0.0006
fi?_‘ RN 0.0076 | 0.0067 | 0.0067 | 0.0061V | 0.0060¥ | 0.0058V¥
= |EH) . |£0.0015| £0.0015 | £0.0010 | £0.0007 | £0.0008 | £0.0014
i | 4.7944 | 4.7322 | 4.7196 | 4.5600 | 4.6985 | 5.3048A
Sl |.F0.6546 | £0.4339 | £0.4241 | £0.4043 | £0.3744 | £0.5467
B | mpers) 0.7829 | 0.7745 | 0.7669 | 0.7558 | 0.7709 0.7898
(77T 1.£0.0743 | £0.0502 | £0.0499 | £0.0374 ) £0.0495 | £0.0571
| | 8008 | 1000, | Ot | Sutin| Soaat | S
e 0.1267 | 0.1387 | 0.1247 | 0.1280 | 0.1364 0.1068
+0.0296 | £0.0459 | £0.0323 | =0.0358 | =0.0328 | +0.0368
ﬁ i35
J*ﬁ LB | 0/15 0/15 0/15 0/14 0/14 12/15
é Bk &
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gi: E g 0 0.4 2 10 50 2000
7, ugike/day | uglkgiday | pgikgiday | pglkgday | mglkg/day
" 15.4 15.5 15.8 15.8 15.5 14.5
[§=]
HEEEHK +9.4 +1.2 +1.7 *2.7 +3.1 +3.0
- 93.1 91.7 93.6 92.2 83.3 87.6
ANHERERY)
i +8.0 +17.0 +4.8 +17.9 +8.4 +12.3
HEHOE D 15.1 15.5 15.8 15.8 15.4 13.3
AR EE R +9.6 +1.2 +1.7 +2.7 +3.1 +3.8
' 91.7 91.7 93.6 92.2 87.4 80.3
Hz2)
H 2 +12.3 +7.0 +4.8 +7.9 +8.3 +20.0
HE%AA O 14.0 15.3 15.2 15.4 14.8 8.7Y
A FERE R +2.6 +1.2 +1.5 +92.3 +2.9 +5.7
1.30 0.95 1.29 0.90 1.09 1.26
. MR (REEE) | k3 | +o0s8 | =068 | +047 | +048 | +0.58
. HE 98.1 100.0 100.0 100.0 99.0 90,8V
- L R £74 | £00 | £00 | £00 3 +24 | +16.2
By | EFE | mE 92.9 98.7 96.4 98.1 95.4 68.1V¥
| (%) | 0-4H | +12 | £26 | £53 | F34 | +63 | .£86.9 |
e 100.0 99.2 99.2 100.0 100.0 99.0
4-218 +0.0 +3.2 +3.2 +0.0 +0.0 +3.5
& || RETH 0 0 0 0 0 1
W | M| D 0 0 0 0 1 0
ji:é — —_ J— —— — J—
—RRIREE | M - — - - - -

D SihE=E R/ ERRK
2 WA= HEE R/ ERER
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H R 0 0.4 2 10 50 2000
X nglkgiday | pelkgday | pgikgday | pelkgiday | mglkglday
HE 5.8 6.1 5.9 6.0 6.0 5.07
.08 | F03 | £03 | . £04 | F03 | 04 | £03 |
WY 8.8 9.3 8.8 9.0 8.9 7.6V
48 +1.3 +0.5 +1.3 +0.8 +1.1 +1.0
" =] 14.2 14.4 14.3 14.1 13.9 11.2V¥
75 +1.6 +1.0 +1.2 +1.2 +1.7 +2.0
B 29.6 29.8 30.0 30.1 29.2 23.2V¥
14H +3.5 +1.6 +2.1 +1.8 +2.5 +3.4
T HE 48.1 49.0 48.7 49.4 48.1 36.9Y¥
B 21 H +4.1 +92.7 +2.5 +3.3 +3.5 +5.4
2 WE 5.4 5.6 5.5 5.5 5.6 4.7
= 0H +0.3 +0.3 +0.3 +0.3 +0.3 +0.3
M 8.3 8.5 8.4 8.3 8.4 7.1V
AR +1.3 +0.6 +0.7 +0.9 +1.1 +0.7
I 13.1 13.5 13.3 13.5 13.3 10.6'¥
e 78 | +17 | *£10 | *12 | *14 | *16 +1.4
M 26.9 28.1 28.6 28.8 28.0 225V
14R8 +92.5 +1.5 +1.9 +2.3 +2.5 +2.4
F1 HE 44.7 45.7 46.0 47.1 45.4 35.6¥
= 21H +4.3 +92.5 +9.T +3.7 +3.5 +3.9
A1 HE 3.0 3.1 2.9 2.9 2.9 2.5
7 0-48 | 1.1 +0.4 +1.2 +0.7 +0.9 +0.8
S 8.4 8.3 8.4 8.1 7.9 6.1¥
e o-78 | *1.5 +0.9 +1.0 +1.1 +1.4 +1.8
sl 23.8 93.7 042 94.1 23.3 181V
i 0-14F | *3.4 +1.5 +2.0 +1.7 +2.2 +3.4
f?é B 123 428 428 434 421 31.8V
b 0-218 | £4.0 +2.6 +92.4 +3.2 +3.2 +5.3
2 i 2.9 3.0 2.9 2.8 2.9 2.3
-~ 0-45 | =*1.2 +0.4 +0.6 +0.8 +1.0 +0.7
£ = 7 79 78 8.0 7.7 5.8
0-78 | *1.6 +0.9 +1.0 +1.2 +1.4 +1.4
g uﬁ%“ 21.5 22.5 23.1 23.3 22.5 17.7V¥
0-148 | *2.4 +1.4 +1.9 *2.1 +2.8 +2.4
HE 39.3 40.1 40.5 41.6 39.9 30.8¥
0-218 | *4.3 +2.4 +2.6 +3.5 +3.4 +3.9
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<FIMEEO021BDREE> (F3 BE-2)

H o 0 0.4 2 10 50 2000
(" nglkg/day | peikgday | pgikgiday | pgikg/day | mgikg/day

N AGDY 2.64 9.75 2.78 2.73 2.75 T9.81

G| e | (mm) | 4+0.20 | +£0.14 | *£0.18 | *0.25 | *0.19 | +0.25 |

D | ** [AGD/ 1.47 1.50 1.54 1.50 1.52 1.64A

T 3/ BW +0.11 +0.07 +0.09 +0.14 +0.12 +0.16

% AGD 1.21 1.04 126 | 1274 | 1.25 1.38A

0 e (om) | £0.05 | *£0.06 | *0.07 | 4008 | £0.06 | - *£0.23

g8 AGD/ 0.69 0.70 071 0.72 071 0.82A

5/BW | +003 | +£004 | +£0.04 | £0.04 | *004 | =014

sEoEm | ® | o120 | o120 | o120 | omz | o112 0/99

(E#%128) | s | 120/120 | 119/119 | 119/119 | 112/112 | 112/112 | 98/98

ALHED 1.2 1.3 1.3 1.3 1.2 1.4
2 N +0.4 | =06 | +06 | *£05 | : +05 | *07 |
1 BT T 4.2 4.3 4.5 3.9 4.2 4.6
e | £07 | +08 | 09 | =05 | 08 +1.1
T T 77 T 75 | 75 | ¢ 83 | 78 | 80A |
o . . . . .

% B | L, £1.1 +12 | =08 | =*1.2 +1.0
| # THEEYD | 14 1.4 1.4 11 1.3 1.3
BB 2 N =07 .. £06 | +06 | =04 | : +06 | *05 |
B e TEET 4.2 4.5 4.6 4.0 4.3 5.3A
) EEERG | 09 | =09 | . £10 | *08 | : +0.7 ... +1.2 |

o 78 76 79 8.2 8.2 0.7 A
H e +1.2 +1.1 +1.1 +1.1 +1.1 +1.8
10.3 10.1 9.8 10.5 10.4 107
_h —_—p
SEBEL | o7 | toe | 18 | *06 | *08 | +07 |
13.0 13.1 131 13.3 13.0 1454
A

y | \FIRM | o7 | xos | xos | x05 | *o4 | +09 |

w | gz | 7 175 175 17.6 176 18.8A

;_é % +07 | +06 | *05 | =05 | =06 0.5

= N 10.2 10.2 10.3 104 10.4 10.7

£

B| |PE®H | oo | os | xos | =05 | 208 | *06 |
13.0 13.1 131 131 13.1 14.4A
A
Ve |EMEM | o7 | xo4 | 03 | 04 | 05 | 407
17.8 175 177 17.6 177 13.8A
PSP

IRERBAR | 107 | +05 +0.6 | +05 | 0.6 0.7

" : FTFAATHER FHIEERE
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" ek ] 0.4 2 10 50 | 2000
& ngtkg/day | peikeiday | pgikgday | pglke/day | mgike/day
| 32 29 29 27 217 26

Rz oy
FFE JKBE 0 0 1 0 0 0
o 5015 | 2050 | 2032 | 1973 | 193.8 | 1415V
R £33.1 | . +219 | £236 | : +30.3 | . +282 | ...: +£26.3
= 10.0 10.0 10.0 0.3 36 80V
BIRER | o0 | 18 | #i7 | x17 | +19 | %20
16 17 2.0 i 16 1.4
| TEE ] <04 | +07 | *10.| *07 | 05 | 05
A IGESE 6.4 5.9 6.8 6.4 5.7 6.0
#| TG | xle | 21 | =19 | a2 | 19 | x3p
- 17664 T1790.6 1717816 [ 18024 | 17517 | 1841.5%
LR AL kIR U R 18
A 526, . . ) : 7
SN\WBER) | sp5q | 2515 | o83 | ws5a7 | 532 | Eee2
=l 1831 [ 71904 71862 |13 | U78.0 | 1227V
E\MRER | o4 | 4193 | +180 | *249 | +217 | *e01
m | g A 35.5 35.4 36.0 35.0 34.3 31.6V¥
£ &R | +43 | . +50 |... £5.2 | : +29 .. *44 | E42
M 334 33.2 33.3 29.9 |730.2 LYW 4
RIZ IR +83 | *86 | *£83 | %71 £7.9 +7.9
HEELTT 14 T 149 | 5.4 | 156 | 141 | 12.6
BEMRE | *+32 | . £3.6_ | . +40 | *£42 | +39 | . =31
TR | 339 52,9 341 331 9.9 30.2
1 ERiGAEIEES | £6.2 +4.1 +3.5 +7.0 +6.7 +6.0
I3 P 04288 | 0.4161 | 0.40165 | 0.4035 | 0.4094 | 0.3833V
B AEER 1 20,0570 | 2:0.0426 | £0.0457 | £0.0458 | £0.0483 | £0.0425
&) i | 00214 | 0.6208 |"0.0207 | 0.0211 |0.0202 |7 0.0215
RIRAVEA | £0.0044 | £0.0036 | 20,0026 | =0.0035 | £0.0039 | £0.0042
— 0.0034 10,0035 | 0.0039 | 0.0081 | 0.0035 | 0.0038
=1 +0,0011 | £0.0015 | £0.0018 [ =0,0015 | £0.0013 | £0.0015
i | ERE 00139 | 0.0121 [ 0.0140 | 0.0132 | 0.0i22 | 0.0165
= (Z£4) | =0.0051 | £0.0041 | =0.0033 | =0.0048 | £0.0041 | £0.0081
] p— 37566 1 3.6504 | 5.6522 | 5.6878 | 3.6962 | 3.6190
|| £0.2779| £0.1665 | £0.2176 | £0.2010 | £0.2200 | *£0.2011
B oy | 11208 | 10952 | 11254 | 10949 | 11139 | 11065
% (RERVEAT | 40,0661 | £0.0466 | £0.1632 | £0,0571 | £0.0648 | £0.0691 |
e 0.3895 1 0.3874 | 0.3863 | 0.3751 | 0.3756 | 0.3248¥
& | WRER) | 10305 | +0.0241 | +0,0285 | £0.0383 | +0,0283 | +£0.0707 _
o | FEEL A 0.0758 | 0.0728 | 0.0756 | 0.0720 | 0.0726 | 0.0867A
¥ | ... \EH) | £0.0084 | £0.0109 | £0.0107 | +0.0067 | £0.0083] £0.0115 |
T h 0.0723 10,0671 | 0.0691 | 0.0612 | 0.0635 | 0.0660
EJ +0.0227 | £0.0174 | +0.0164 | £0,0134 | £0.0131 | +0.0182
BET 5.0313 10,0305 | 0.0319 | 0.0322 | 0.0289 | 0.0351
EERR | £0.0085 | £0.0069 | £0.0081 | =0.0094 | 20.0083 | £0.0098
TR 10,0720 | 0.0675 | 0.0708 | 0.0681 | 0.0701 | 0.0833A
RUERSIARS | £0.0168 | £0.0080 | 20,0062 | £0.0146 | £0.0160 | +0.0173
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m e 0 0.4 2 10 50 _ 2000
e \_ ngikg/day | peikefday | pgikgday | pgike/day | mglkg/day
gk | KE 28 30 30 29 29 17
BB e 0 0 1 0 1 0

b R
JoE 195.1 195.8 201.3 203.9 190.9 142.6V¥
BB | isp0 | +23.1 | %285 | =212 | +266 | +297
= 13.4 13.8 13.1 13.5 13.8 10.7%¥
I |BBER | w5y | 4as | w20 | +16 | 22z | 21
% FE 1.5 1.8 1.7 1.6 1.6 1.6
g TEE | t0.6 | x07 | =07 | *05 | xoe | *09
N 6.4 6.8 5.9 6.0 6.4 5.7
of | FRBED | 2oy | wp7 | was | ox1e | *19 | *16
% e 1643.9 1669.3 1648.9 1770.84 1694.5 1304.6'Y
=|Fi% | =zee66 | 1394 | £183.0 | +1744 | 21707 | +2197
496.4 501.2 500.9 522.9 510.1 3948V
& | FBER | L60p | 455 | +e51 | +505 | £5T5. | x505
Jlic3 . 5.6 6.8 6.5 6.4 5.9 4.4
SRER) | oo | xas | x22 | x17 | x2s | 14
¥ X 29.0 28.9 28.5 28.9 28.5 26.1
IE-‘I *=5.4 +4.9 *=5.0 4.9 +48 +3.8
ji;lg g 0.4418 0.4328 0.4443 0.4343 0.4205 0.3996V
% +0.0498 |+0.0895 | 00554 |+0.0353 | +0.0447 | +£0.0527 _
g | 00804 | 0.0304 | 0.0289 | 0.0288 | 0.0305 | 0.0306
g | BEER | +0.0062 | +0.0047 | %0.0088 |+£0.0034 | +0.0044 | %0.0048 _
% Fik 0.0035 0.0041 0.0039 0.00356 0.0035 0.0046
Z|TEE +£0.0012 | £0,0015 |£0.0015 |=0.0011 | +0,0012 | %0.0024 _
T L 0.0146 0.0152 0.0132 0.0127 0.0143 0.0157
1 | PRIRER) | 0 6055 | +0,0059 | =0.0051 | £0.0086 | £0.0044 | =0.0044
%_ i 3.7246 3.6966 3.6330 3.7658 3.7404 3.6349
g R +0.1422 | £0,1783 | £0.2144 | £0.1753 |+0.2062 | £0.2274 _
2/3 B 45) 1.1273 1.1101 1.1075 1.1152 1.1236 1.1122
FIRER) |, +0.0440 | £0.0516 | £0.1345 | £0.0679 | +0,0716 | =0.0676 _
i SRBL(ER) 0.0127 0.0148 0.0144 0.0137 0.0130 0.0123
FRED) |. £0.0046 | £0.0060 | 00049 |£0.0033 | +0,0047 | +0.0035
Fu 0.0664 0.0639 0.0627 0.0617 0.0624 0.0749A
+0.0130 |=0.0101 {£0.0104 | +0.0102 |X=0.0085 +0.0098
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& -2)

- o 0.4 2 10 50 2000
velkeg/day | pefkglay | po/ke/day | pefkgiday | melke/day
i3 o | WE | 82 | 28 | 29 ... 27 1.2 | 26 |
£ T i3 30 30 30 28 28 23
ﬂ%% A )
N e 2 ) B
- I () | o2 | o8 | oi2s | o027 | 06 | 426 ]
- (3+) 0/32 0/28 0/29 0/27 0/26 4/26
B BERR A
#*—’%J:{ZF\ BISIER. ¥ EER. IR, HRIERED ‘
F1 Wahe, @i, T4k, FRER, FTE. BiE BE2L
B R =2 r=omy | 007 0.07 0.06 0.07 0.06 0.05
?}3 S (ng/mL) +0.04 | +0.02 | *0.02 | *003 | +0.01 +0.01
% [FSH 7.36 7.29 8.21 8.34 6.78 4.91V
we | = (ng/mL) +989 | *+259 | £3.34 | +3.48 | 351 +92.34
W LH 1.20 1.04 1.11 1.25 1.02 0.92
E | (ng/ml) +=0.74 | *0.29 +0.46 | +0.90 | =0.31 +£0.22
A
% e O B MG BIE. TEE. TRE. FEOER BELL
7 .
FSH 26.27 21.61 22.61 27.53 29.81 26.36
A | (ng/mL) +603 | +5.00 | %516 | +565 | +12.24 | =+17.18
7| v [TH 1.48 1.85 1.44 1.65 1.47 1.46
2 | < | (ng/ml) +.030 +0.83 +0.47 +0.46 +0.34 “+0.26
8| ¥ [=X 503~ 5115 43.73 47.71 47.21 41.89 55.83
Wmi® | (pgml) | £17.04 | £11.79 | 2372 | +14.02 | =£17.93 | £19.51
B Fasrs 0.78 0.80 0.93 0.78 0.88 0.82
e (ng/ml) | £0.00 | +£003 | +0.29 | *0.00 | +0.19 +0.08
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BEE 0 0.4 2 - 10 50 2000
ugfkefday | pgfkeiay | pefkelay | poikeday | mgfke/day

H o HE 30 30 30 28 28 24

po | BE e 30 50 30T 28 58 55

43E 84.7 83.9 83.8 85.5 84.0 67.6Y
| 4MmE ) +g9 | 481 | *b58 | +87 | *+63 | £103 |

534 141.1 140.2 140.4 144.2 141.0 114.6 ¥
_________________ +12.7 | *£108 | *+7.7 | *£123 | £9.7 | £158 |

i i 201.2 201.3 200.8 206.1 201.0 166.1F¥
_________________ +16.6 | +125 | *£87 | £18.1 | *125 | £202 |

B | AR 260.8 263.3 263.5 268.2 262.4 21767
ol ol +90.1 | :£15.0 | *108 | *17.5 | 173 | +264 |

SRS 325.1 326.4 329.2 331.9 325.9 274.0VW
IS +954 | *£17.1 | +13.1 | 4197 | +206 | £314 |

9D 373.6 370.5 376.7 377.3 374.8 322.7%Y
_________________ +953 | *215 | *+162 | *+21.7 | *222 | +£343 |

& 10 406.8 404.5 412.2 408.3 410.1 357.4V¥
= = +24.9 +18.2 +20.2 +25.2 +24.2 +34.2

OB AR R N
IRz h5‘Ht—£_% 1122.2 122.7 123.4 123.7 121.4 102.3¥
%, e +12.1 | *7.6 | x55 | *102 | *9.7 | £141 |
ciE 159.4 161.3 161.8 162.5 162.2 1385V
w2 "t +140 | *81 | =71 | *11.8 | 101 | =£163 |
7R 189.3 192.9 192.8 193.8 192.8 168.0¥
e ] +178 | +91 | *85 | +143 | +107 | £19.3

SR 217.4 220.0 217.6 217.9 217.6 194.5Y%
It +208 | £106 | +127 | *181 | +125 | +21.6

RS 237.3 239.3 240.5 241.3 241.9 218.7Y¥
_________________ +216 | +112 | *109 | *198 | +13.0 | *+223

1085 253.8 258.7 258.0 257.0 259.8 237.2V%

+21.6 +13.0 +13.5 +18.5 +=14.1 +=22.7
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CHETEREMORBE> (B6 ME-D)

- . 0 0.4 2 10 50 2000
i ngikglday | pgikgday | pgikgiday | pghke/day | mglkgiday
L5 56.4 56.3 56.7 58.6 57.0 47.1W
+4.8 +3.6 +3.1 +5.0 +4.4 +6.0
Lome | Led 117.4 1171 1203 117.0 98 5V
,,,,,, =Rl +95 ) #59 1 +60 | 69 | +77 | £105 |
e | 1761 179.4 1797 182.7 178.4 [ 150.1W
i 3 DA W +13.4 | +£9.0 .. +86 | 115 | - +13.0 | #E17.0 |
Lo | 2403 542.5 5455 | 246.3 | 241.9 | 2065V
I =187 ) +11.7 1. £11.2 | : +13.7 | *£16.3 | _+224 |
i romgs | 28897867 2029 | TE91T | 260.8 555.0%
0 I R +19.6 | *17.4 | +£157 | +16.7 | *188 | £267
e sioEm | 3221 320.6 | 8984 | 322.8 | 3261 | 289.9¥
. jJEH = +920.4 +15.1 +18.6 +91.2 | *+21.0 +26.6
1| B : 45.8 45.5 16.0 44.6 45.5 392V
B~ |458% | 5y | %34 | *37 | +51 | *39 | =59 |
El IS vemis | 851 g4.1 84.4 83.4 86.2 755w
I T el +84 | +60 | *68 | *76 | *65 | *92
s | 1180 115.6 115.4 114.7 116.8 104,90V
3 SO +12.1 | +78 | ... +81 | £10.7 | : +6.7 |.. %125 |
romm | 1410 142.8 140.2 138.8 141.6 131.4%
_________________ +158 | *98 | +131 | *154 | *91 | *+143
romis | 1610 162.1 163.1 162.2 165.9 i55.7
I +17.2 | *£109 | £109 | T16.6 | : +9.7 |..%158
, 177.5 178.5 180.6 178.6 183.9 174.2
41088 | 173 | 125 | +13.6 | +155 | =£11.0 | *+16.6
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